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1. ( ) RAID 0+1is for (a) striping (b) mirroring (c) spanning (d) parallel (e) none of the above.
2. ( )CPUconsistsof ALUand . (a) MM (b) MU (c) DU (d) CU (e) none of the above.
3. ( )Amazon.com is an online store which belongsto . (a) B2B (b) C2C (c) B2C
(d) C2B (e) none of the above.
4. ( )HTTPuses ___ protocol. (a) stateful (b) stateless (c) connection-oriented
(d) connectionless (e) none of the above.
5. ( ) Online store uses ____ to stores shopping cart information.
(@) cookie (b) session (c) application (d) file (e) none of the above.
6. () Which of the following memory has the best execution speed?
(@) register (b) cache (c) SRAM (d) DRAM (e) none of the above.
7. ( )___ isawidely used e-mail protocol.
(@) SNMP (b) SMTP (c) HTTP (d) TCP/IP (e) none of the above.
8. ( )IPis163.23.199.100 and subnet mask is 255.255.255.240, then the broadcast address is
163.23.199. . (a) 95 (b) 96 (c) 111 (d) 112 (e) none of the above.
9. ( ) Gray code is widely used to facilitate . (a) data prevention (b) data correction
(c) error prevention (d) error correction (e) none of the above.
10. () Which of the followings is NOT one of the four necessary conditions of deadlock?
(a) mutual exclusion (b) hold and wait (c) no preemption (d) circular wait
(e) none of the above.
11. () Which of the followings is NOT a kind of short distance communication protocol?
(a) GSM (b) RFID (c) Bluetooth (d) IrDA (e) none of the above.
12. () Binary number 0.1101is ______in decimal.
(a) 0.8125 (b) 0.78125 (c) 0.875 (d) 0.765625 (e) none of the above.
13. (" ) Which of the followings is NOT a kind of server-side scripting language?
(a) Java (b) ASP (c) PHP (d) Code Fusion (e) none of the above.
14. () The mail purpose of normalization is to reduce data
(a) redundancy (b) lost (c) overflow (d) corruption (e) none of the above.
15. (' ) Which of the following protocols is used to digitize voice and transfer it over the Internet
using IP protocol? (a) VoIP (b) SMA (c) FTP (d) Telnet (e) none of the above.
16.( ) ___ isageneral purpose specification for creating custom markup language.
(@) HTML (b) XML (c) RSS (d) CSS (e) none of the above.
17.( )1GB=_____ bytes. (a) 2°° (b) 2% (c) 2*° (d) 2°° (e) none of the above.
18. ( ) intx=1;inty;y = (x++==1)?1:0; The value of x and y after executionis

@211(b)12(c)21(d)22(e)none of the above.
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19. () Object-oriented language uses to hide the implementation details of a class.

1.

2.

3.

(a) polymorphism (b) inheritance (c) encapsulation (d) dynamic biding
(e) none of the above.

20.( ) ___ isatelecommunication standard for sending messages that include multimedia
objects. (a) MMA (b) SOA (c) MMS (d) MSA (e) none of the above.
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(1) Augmented Virtual Reality (in multimedia)

(2) RPG (in computer game)

(3) LRU (in caching algorithm of operating system)

(4) Wi-Fi (in wireless network technology)

(5) OOP (in computer language)
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Locking and commit protocol
(a) What is a two phase locking protocol? How does it work?
(b) What is a two phase commit protocol? How does it work?

Write a recursive C function which calculates the gcd (greatest common divisor) of two positive
integers.
(a)
int gcd(int nl, int n2) {
// begin writing your code here

}

(b) What’s the time complexity? (Note: You have to show how you derive the answer. Simply give
an answer will get 0 score.)

Compare ADSL versus cable modem technology in terms of the followings :
(a) Speed

(b) Stability

(c) Security
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4. Consider the graph on the right-hand side.

(a) Starting from point A, draw the spanning tree using Depth First Search algorithm.

(b) Starting from point A, draw the spanning tree using Breadth First Search algorithm.

(c) Show what kind of application will benefit from Depth First Search algorithm more than
Breadth First Search algorithm.




